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residual of frame 4, mean = 1.5481702089309692 +- 9.607239723205566
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dual of frame 6, mean
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residual of frame 8, mean = 4.183721542358398 +- 9.596854209899902
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dual of frame 9, mean
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residual of frame 0 - 1, mean = -4.033064365386963 +- 13.581872940063477
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residual of frame 1 - 2, mean = -0.490750253200531 +- 13.577240943908691
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dual of frame 2 - 3, mean
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residual of frame 3 - 4, mean = 2.515223264694214 +- 13.734880447387695
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residual of frame 4 - 5, mean = 2.1971898078918457 +- 13.527517318725586
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residual of frame 5 - 6, mean = 0.301058292388916 +- 13.550479888916016
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dual of frame 6 - 7, mean
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4.036800384521484 +- 13.677703857421875
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dual of frame 7 - 8, mean
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residual of frame 8 - 9, mean = 6.038863658905029 +- 13.63928508758545
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